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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

Write your Question Paper code No. 68/SS / O-A on the Answer-Book.
5. (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any one
of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati, Konkani,
Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the Answer-Book.
(b)  If youchoose to write the answer in the language other than Hindi and English, the responsibility for any
errors/ mistakes in understanding the question will be yours only.

6. In case of any doubt or confusion in the question paper, the English Version will prevail.
Waﬂ%w
Theneff g-T9 o et 88 W STIA1 STshHIh Tavd ford |
2. HUHIYE-T I W4 o R G- o Fel Tl a1 Tl bl St & e § T e U % el IR B9 ¥ 139
I ht S o IR A R g w0 H E
3.  SWR-Yfereh § eaH- g oMM steran fAfdwe T o stfafia el «ff e1shmish foram T udtenedt o Tl Seren S |
4. SO AR W YeH-9F Fi hie dex 68/ SS/ O-A ford |
5. (%) TA-UF had f&dt/ s wem ¥ §1 R o, afe e =i @ e < g foet wen oo B SRS geRd € -
JuTeH, HYHRT, Hehd IR et |
FU S-Yfeht B fou T ot # fod & o1 o oo & s forma @ €
(@) @fe oy fEd wa st & erfafiea frdt o= o § SR fawd € @ 999 &1 99eE § 29 At
Ffedi / Tafaal s SR hae SR Bl |
6. YA H fopdll oft YRR & Tae 1o gfaen i feufa # 243t 1 & A= 2

WEYUNNATI EDUCATIONS .
For Solutions,Contact Us
9899436384,9654279279

L

[ Contd...



EMPLOYABILITY SKILLS AND ENTREPRENEURSHIP

Time : 3 Hours |

AT : 3 "US ]

TSR ShHI9TA 3T SATHAT
(350)

[ Maximum Marks : 80

[ gutiek : 80

Note :

This question paper consists of 43 questions in all.
All questions are compulsory. Write your answers in answer book.

Marks are given against each question.

Q. No. 1 to 16 - Multiple Choice type questions (MCQs) carrying 1 mark each. Select
and write the most appropriate option out of the four options given in each of these
questions.

Q. No. 17 to 28 - Objective type questions carry 2 marks each (with 2 sub-parts of 1
mark each). Attempt these questions as per the instructions given for each of the
questions.

Q. No. 29 to 37 - Very short answer type questions carrying 2 marks each to be answered
in the range of 30 to 50 words.

Q. No. 38 to 41 - Short answer type questions carrying 3 marks each to be answered in

the range of 50 to 80 words.

Q. No. 42 and 43 - Long answer type questions carrying 5 marks each to be answered

in the range of 80 to 120 words.
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Note / gt .

(1) Answers of all questions are to be given in the Answer-Book given to you.
Tt gl & IR A9 & Tl SW-feden | g foad |

(2) 15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 02:15 p.m. From 02:15 p.m. to 02:30 p.m., the students will read the question
paper only and will not write any answer on the Answer-Book during this period.

TG YI-UF i YA o fau 15 foee o1 9m foon o §1 9sH-u o1 foaeer SrueR # 02:15 99 fohan
ST e 02:15 I 9 02:30 I q% B kA YE-IF HI T R TY A & IRE A
SRR W FE W &l feag@i |

1.  The boss of Anita calls her at 7:00 p.m. and asks her to report for duty at 10:00 p.m. for an
urgent project. Which Act is violated here ?

(A) Equal Remuneration Act, 1976  (B) Factories Act, 1948

(C) Payment of Bonus Act, 1965 (D) Workmen Compensation Act, 1923

ST o 1F 3 W 7:00 S 36 WA ek el foh 98 Teh Hewequl IfEisHT &g Uf 10:00 9 <21
¥ Sufterd 2 | 7el o stfufem 1 Sooford g3 %2

(A) wHH RgHes safufT=H, 1976 (B) hI@MI AfIH, 1948
(C) &MY e sifafaH, 1965 (D) =R &fagfd stfufm, 1923

2. A Company grants promotion to some employees but a women employee could not be
promoted because of her gender. Under which Act she can file a case against the
company ?

A) Workmen Compensation Act, 1923

(
(B) Industrial Disputes Act, 1947
(C) Factories Act, 1948

(

D) Equal Remuneration Act, 1976

Tk hTT 7 FH HHAMAI bl TR IS i TR Th wHAR, ARG 1 ok hRIT Tal=Id Tl i STl
qeh! | I8 Ut & faeg fhe sifafTad o Siaia a1 T&gd T Fehdl © 2

(A) e afagfd stfufE, 1923
(B) 3irEifies fomemg stfuftad, 1947

(C) hR@mI fufam, 1948
(D) HHM qigfHen AT, 1976
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3. Effective communication requires, . 1
(A) Speaking English fluently
(B) Balance between Non-verbal and Verbal communication
(C) Speaking Hindi fluently
(D) Speaking loudly
T FEEU ¥ SO ©
A)  HNYETE SIS St
B) omfE e Wi e § Haer
C) UNIYeE Tt sler
D) 3= @ H e

~—"

(
(
(
(

4. A software application used to display webpages, is called : 1
(A) Search Engine (B) Home Page (C) Web Browser (D) Website

39 STl o U ¥ T foRA ST ATl |IReRR STYAN HEand © :

(A) @ISl g5 (B) @ Y (C) o R (D) e
5.  Full form of ISP is : 1
(A) Information Search Protocol (B) Internet Service Process
(C) Information Service Provider (D) Internet Service Provider
3T T dt 1 Ul w9 T
(A) TARHIA F Uierenial (B) 3erie wfdd qrag
(C) T wfdd FarEet (D) 3etie dfad gremset
6. In the Entrepreneurship Ecosystem, which of the following statement is most relevant ? 1

(A) Culture is not most important component
(B) Business Environment includes both internal factors and external factors
(C) The ecosystem functions in a constant type of markets

(D) EE is successful when there is no involvement of government at all

St mids |, 7 § 9 S 91 HeA Taifees gEie € ?

A) HEH{q Haifes Tewayl T2 T §

B) O™ SR B STidfieh Td 9el, THi SRk AHAfAd B ©
C) WG, 3T9R YehR % STSTRI § i il ©
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7. Which of the following groups best describes Entrepreneurship Ecosystem components ?
(A) Lifecycle and Growth
(B) Government and Constitution
(C) Business Environment and Finance
(D) Structure and Calculations

=1 A @ SiF-a1 gug, Safian wifikds et &1 ssan foeem 72
(A) SiterT=sh T Hafg

(B) HThR To HfdyM

(C) =HEHM odery we o

(

)
D) <=l Ud qfeToETd

8.  Within how many days a person should apply for registration under Goods and Services
Tax ?
(A) Within 60 days from the date he becomes liable for registration.
(B) Within 30 days from the date he becomes liable for registration.
(C) No time limit.
(D) Within 90 days from the date he becomes liable for registration.
] TS WAl L S USRIl & Ueh Afe ol feha fEAi & ofieR SAree o =nfey ?
(A) USTeRTO ¥ IR B o6 60 Tl & offae
(B) USTeRYT ¥ IR B o6 30 Al o offae
(C) = wHI HAT T
(D) TSRt &g IR B 6 90 feAi & o

9.  What is the cut off turnover limit for compulsory registration under GST ?

(A) R 9 lakhs (B) If it exceeds X 20 lakhs

(C) R 50 lakhs (D) No limit for registration

St T\ & o Sidia A deiieror &g fasea Tfen o6t sifeaw dim = 2

(A) % 9mE (B) Af¥® 3 20 @@ W Ay &
(C) % 50 @@ (D) SRl Bq IS HIHT T8

10. Which organisation sets the general minimum age to join an employment ?
(A) Indian Labour Organisation
(B) International Law Organisation
(C) International Labour Organisation
(D) Internal Legislative Organisation

Teh Aol IRY 3 I WH <A A hH-T1 H1eH Feifd s § 2
(A) YRR g8 G

(B) iy fafy Hred

(C) SiqUea g9 Hied

(D) ARk Ta8mM |
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11. A person can improve his performance through participating in group learning. Which 1
learning mode is used here ?

(A) Reflective Observation (B) Abstract Conceptualisation

(C) Active Experimentation (D) Concrete Experience

Teh Al g SAH § 97T SRt 3791 fouTeT R Hehall © | F-T I &t shia-gt fafy wagea =t
T R?

(A)  ToemrEs Jeo (B) hIcdeh o=fendl
(C) fsha wamm (D) Feneqol srgve
12. In the context of Job Application, the full form of CV is : 1
(A) Career Vitae (B) Curriculum Vitae
(C) Care Vitae (D) Cover Vitae
St 3 S 3 ek < A g w
(A) e fafe (B) e fafe
(©) =R fafe (D) = fafe
13. Conflict arises due to : 1
(A) Responsive Behaviour (B) Indifferent Opinion
(C) Disagreement (D) Cordial Relationship
HAS Fo RO S0 2 8, T/ T
(A) SUEHE! =FeER (B) frougr fo=m
(C) sFHeHEfd (D) Hsirgol Haiey
14. The full form of URL is: 1
(A) Uniform Resource Locator (B) Unique Resource Locator
(C)  Unit Resource Locator (D) Uniform Region Locator
3 TR UA 1 01 ®9 T :
(A)  IFEE REE diohet (B) IfTh REM™ wllohex
(C) e R drehex (D) IFEE H5H doheX
15. Good business ideas should not be : 1
(A) Innovative (B) Solution of problems
(C) Profitable (D) Common
=31 SFIAE faam TEr 9 & :
(A) FEgadie (B) TwES H TR
(C) <wY< (D) HH
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16.

17.

18.

19.

Goods and Services Tax is not applicable to :

(A) Cosmetics (B) Apparels

(C) Auto Parts (D) Petroleum Products
g T Han stfufm fo W ar] 78 da, a8 T

(A)  wEE HE (B) uRem™

(CRECE (D) e s

State whether following statements are True or False :

(i)  Fancy or colourful apparels are usually avoided at the workplace.

(i) Negotiation is simply the act of finding a point of agreement between two parties.
FARY B T Fe T T S A

()  HrEIA T HAR e T-forla gy | s=a =t
(i) < &l % o9 HeHfd % fawg 1 Gremn wmd: witse § )

State whether following statements are True or False :
(i) A letter is a form of written communication.

(i) TQM stands for Total Quality Management.
AR o 7 o A € S19an 36 ¢

G) =, fafe e o T w9 )

(i) < T TH AU e FfAe! HAsHe |

Fill in the blanks in any two of the following :
(i)  The cycle of learning by David Kolb consists of learning modes.
(i) The speed with which the data is exchanged is called as the

(iii) Software is a program or set of programs that are designed to prevent,
search for, detect and remove software viruses.

= & @ =g S fioa wom aftw
() <fae wiea & At = o siferm faemd €1
i) o fa & 1 1 fafam @ g, @ e ¢ |

(i) YIFEAI T HIhH LT HIEHHA! Hl T T, 9 WHR arRdl i T,
Wi, TgaFH a1 82 &g Afehfeud fohan a7 |
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20. Complete any two of the following sentences by filling the correct form of verb. 2

(i) Kiran has (work) in Tourism industry for 12 years.
(i) This pen writes (good) than others.
(i) He (work) as Manager.
foRe & W&l ®9 1 Rt 19 H 9 g & 9 7o Hif
(i) Kiran has (work) in Tourism industry for 12 years.
(i) This pen writes (good) than others.
(i) He (work) as Manager.
21. Match the statements of Column - I with the right option of Column - II. 2
Column - I Column - II
(i) Websites use a protocol is called (a) Scanning
(i) To read the whole text or a large part of the (b)  Secured Socket Layer

text, so as to understand the general meaning
WH - 1 & A hl WY - I1 & Tt fasmeq 3 e sifay .
WY -1 WY - 11
(i) AL T HHMER TIo HIl &, SN hecdl & (a) TSR
(i) TEYUl TR Sq 312fe 3Tk Weh S YN <hl Y&, (b) & Wihe T
difeh SHRT WA 1e GHAT ST Feh

22. Complete any two of the following sentences : 2
(i) Google Chrome, Mozilla Firefox and Opera are the examples of

(i) The payment of Bonus Act, 1965 states that any organisation which has over
employees has to pay bonus.

(iii) SWOT : Strengths, Weaknesses, Opportunities and

=1 9 9 =i & & I FiT ;

() T shid, HfSTeeT HRERGER 991 3T & ISR B |

(i) oA aE SAfuftEm, 1965 % STIER, T 3firer HHEE It WIS Bl S
A AT SR |

(i) TH TG o7 & : WY, diehd, AU qu |

23. Write True for correct statement and False for incorrect statement : 2
(i) Mouse, Keyboard and Joystick are the examples of software.

(i) Firstaid services are necessary to prevent the excessive medical expenses of the workers.
& U T T qAT Tl HoH g A fAfay
(i) TISH, FHelUed q SR, TR & IS0 ¢ |

(i) HHEE % Tafess fafera =@l ot Jwum ¥g Wi Ferar Jard sTaws |
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24. Fill in the blanks in any two of the following : 2

(i) In the context of computer, a MAN typically covers an area between and
K.M. range.

(i) The past tense of ‘Go’ is .

(i) Ctrl + C is used for a document in computer.

= @ g < Raa wom vfte

() H F Hedl H, TH TH T A SHHeH qe fr. . & &5 ! AEid
FIA T

(i) “Go’ Wl kT 7

(iii) HTEEX H TH YU FA TG el + G T ITANT TR ST 7 |

25. Match the statements of Column - I with the right option of Column II. 2
Column - I Column - II
(i) To read for a particular word or phrase (a) Hacker
(i) The person who uses computers to gain (b)  Skimming

unauthorised access to data

WH - I & HAl @Y - I1 & Tt fasmed § faam sifew .

wWH -1 wWH - 11
(i) Tk faRIY V1T 72T AT T U By (a) TR
(i) STeT A ST Ugd 9 o HE T (b) TerwmTHT oA
T A SAfeR
26. State whether following statements are True or False : 2

(i) The communication must be kept friendly, open and honest.
(i) Business incubation is a “stagnant process of business development”.

warey foh 7 oM | § 212aT 3TH e

(i)  HYE T B, T qT SHERR @A =IfET |
(i) ST SCUEH, A fash i T feer ufwan 2

27. State whether the following cases are of direct taxes or indirect taxes : 2
(i) Income Tax (i) Goods and Service Tax

Sarsy foh T AT Toel S & € 27U AT W F © ¢
() ST M (i) %] TE Ha1

28. Fill in the blanks in any two of the following : 2
(@) describes what a company wants to do now.
(i) Damaging or destroying data rather than stealing or misusing them is known as

(i) CPU stands for .

= 5 @ g < Raa wom gfte
(i) foafea sear € fom et 1l & he =t B
i) ST I YA YA TEIAN A o IST Y AR AN T HTT AT B |

(
(i) € 9 g Al |
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29. Suggest any two tips for Group Discussion. 2

g = & HIE o iRl s |

30. Differentiate between opinion and facts. 2
foem wd qeil % = sfade Hifg |
OR / 3tan
State any two guidelines may be followed while writing a cover letter.

3Rl 95 forad THe 3Ture ) <M a1l &g o feenfadyr smru )

31. List any four benefits of "World Wide Web'. 2
‘e aMES A4’ o fehl AR Sl T T SR |

32. Why do we use e-mail ? 2
T 3T 1 ST R B © 2

33. What do you understand by miscommunication ? 2

THYTOT § e I Ay © 2

34. Briefly explain the meaning of Cloud Computing. 2
FARZE FHPAfT 1 7o G H THSET |
OR / et
What is an Entrepreneurship Ecosystem ?

SEfhar TGS = 7 2

35. What is Cyber-crime ? 2
HIZeR STOY A E 2
OR / 3t

Differentiate between Hearing and Listening.

T T F F § sfasie FfT

36. Name any two books of accounts to be maintained in business. 2
e gN W@ M et & oiel IRl o A ST |
OR / 3teran
What is Time Management ?
T Fe A g 2

37. What are manufacturing enterprises ? 2

ol Susha oM B1a § 2
E&%‘? [ Contd...
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38.

39.

40.

41.

42.

43.

w/s5/05Ny NNATI EDUCATIONS &

“A business organisation is a complex structure which requires automation beyond a
particular scale of operations.” In the light of this statement, explain the concept of Enterprise
resource planning.

" I G Ueh Sifed HXeT §, T8 weme & Ues fAfyea S0 @ W e i STesdehdr gl
B 39 HoH & Yol § Susy oA e St STaeron JHeEt |

Why should reports be written ?
aré =@l ferell ST =fe ?
OR / 3t
Briefly explain the Workmen’s Compensation Act, 1923.
FHHAR afagfd stfufrad, 1923 %t dfaa = men S|

Briefly explain the Employees Provident Fund and Miscellaneous Provisions Act, 1952.
e wios i e fafay geem sifufem, 1952 i Had § THe |
OR / 3tgan
One sentence is to be framed for each of the following words.
(@) Machine
(b) Problem
(c) Finished
1t wIgi H | Weoish sh1 Teh-Teh o1 AU | ST |
a) Machine
b)

Problem

(
(
(c) Finished

What do you understand by Job Description ?
T oo § 19 o TR © 2

State any five points to be kept in mind for a clear communication.
T HYYO ¥ A H W 9 91 e qra fog TaEy |

OR / 3t
List any five disadvantages of using Smart phones.

T B ST T i fomedl ara eIl i gt SR

What are the PSMART goals ?
o TH TH T TR & AR 2
OR / 3t
Mention any five commodities on which GST is applicable.

U Ui SRt T Seoid FifT f5H WS T 3 Ay B R
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